SUBTRACTING UP TO 1 000 000 WITHOUT CARRYING (H - SET 2)

SUBTRACTING UP TO A MILLION

Name:

Time:

Score:

1) 592567 — 150515 =

s12) 705436 — 505433 =

13) 580725 — 10403 =

1) 769366 — 452100 =

815 938650 — 207040 =

s16) 981683 — 211321 =

a7 827815 — 615010 =

s18) 226908 — 5902 =

s19) - 328607 — 102300 =

850)  H437H3 — 401102 =

51945072 — 502032 =

2 607112 — 7010 =

853) 286004 — 274132 =

1) 224086 — 122052 =

5) 707754 — 302523 =

Mathematics: Subtraction - Level 7 - Horizontal - Set 2
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806875 — 801371 =

928787 — 517774 =

479679 — 356476 =

688928 — 646811 =

586640 — 365440 =

594189 — 520026 =

868357 — 556316 =

878874 — 645761 =

913055 — 602001 =

735117 — 733015 =

892251 — 121230 =

346274 — 44252 =

227487 — 203423 =

889704 — 830304 =

223356 — 2126 =
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